THREE BLEBITREBL I—I/107 T3 HFEBRKRREE
OEDITHE—MRERZYMDNEACLOEERUVEHE BITHAEIZDTEIE 1)

(Bf k)

48 58 68 7H 88 98 108 118 128 18 2H 3B || Adt
AL+ 29,080 25,830 30,270 25,880 14,550 24,850 23,680 21,960 32,810 16,000 17,850 14,260|| 277,020
rsim e oz | AR 41,430 21,800 29,740 45,710 8,940 18,460 10,590 11,270 1,910 2,750 0 14,120|| 206,720
BB A
HEH 0 0 0 0 0 0 0 0 0 0 0 off 0
it 70,510 47,630 60,010 71,590 23,490 43,310 34270 33,230 34,720 18,750 17,850 28,380|| 483,740
BRI H |FmcaH 63,000 72,040 78,510 54,560 70,040 60,000 73,790 73,630 86,870 73,040 60,730 79,670|| 845,880
BiE  |srne 2,920 12,770 12,220 11,510 8,120 0 0 11,290 8,940 5,560 7,970 9,720| 91,020
BX# [mimux 15,120 14,680 16,700 15,260 11,230 321,810 11,950 13,100 15,980 10,800 9,500 12,960]| 469,090
~s 8 ke) 151,550 147,120 167,440 152,920 112,880 425,120 120,010 131,250 146,510 108,150 96,050 130,730 1,889,730
= K3E () 117 114 129 118 87 327 93 101 113 84 74 101]| 1,458
OB - BKI D RBRFER FETRAIEAFDT7EALIE O-/\)
SREE 47 5A 67 75 8A 95 105 TR 128 A 25 3R
WA | anee| EEA| aned| =R A | Anst| EiE 0| anee| EEA | ared| A | anet| EiE 0| anee| EEA | arek| A | aneg | 2R | anee| B0 | arek| 2R | aare
fREE &0 |B2suL| 80 |BywuL| 88 |BE3ul| 88 |B2ssL| £8 |Bwsl] 88 |BE3ul| 88 |BssL| £8 |Bwal]| 88 [BExul| 88 |Byul| £8 |BExul| 88 [BEsul
AT #8 |2¥4L| 88 |B%4L| 88 |24l £8 B34l 88 |23l 88 |2%4L| £8 |24l £8 |B34L| 88 (234l 88 |23%4lL| 88 |B%4l| 88 [BE3nL
XEH: LAKRA. ERFHEERLS
OFAEM - ZH B NEERFEHRAEIREO R RER GETRAIFEAEZFDTEL4E ~N-N)
SRER 4R 54 68 78 88 98 104 114 128 18 28 3R
EiE | AesR| Ek A | anse| Bk B | ars| 2B | sesR| 2R | Aes2| kB | Ansg| B H | arsR| B | sk 2R | Aes2| ik 0 | amse| Bk B | ansg| EE R | aase
HEE &0 |B2suL| 0 |BEywsl| 88 |BExul| 88 |B2syl| £8 |BEwsl] 88 |BExul| 88 |B2sslL| £0 |BEwsl| 88 (BExul| 88 |Bxsl| #8 |BExul| 88 [BEsul
EemnEgs| 0 |2%4L £8 |BResL] #8 |E%4L| #8 |24l #8 |2%4L #8 |Besl] #8 |28l 88 |2%4l| #8 |R%4L| 80 [BE%4L| 88 |28l 88 |2FE4L

X¥EBH: TBHA. ERERKS

O HMERBENRERR GETHRAIEA4ENDTHEL4IE 1))
(R1.12.1038 %)

| BREE

90,396|m3




